Volo 36 Flush Mount

Installation Instructions

brass

General Product Information thumbnuts\T

(A
|

This product is suitable for indoor dry and damp locations only.

Junction Box Requirements: This fixture can be mounted to most standard
junction boxes. It is the installer's responsibility to ensure that the site
conditions, junction box, and fasteners used are suitable to support the
weight of the fixture.

light engine

Driver to be housed in the canopy. Can be remote if necessary.

Fixture can be dimmed with TRIAC, ELV, or 0-10V dimming at 120VAC input. | | :
For 240 or 277 VAC input, fixture is only dimmable with 0-10V dimming.

CAUTION - RISK OF FIRE

This product requires installation by a qualified
electrician. Before installing be sure to read all
instructions and TURN POWER OFF TO THE
JUNCTION BOX junction box

Remove the wood hub from the fixture by removing the brass

thumb nuts behind the hub. Wiring Diagram
(Optional)
0-.1 OV' Line Voltage
@ Undo wire nut connections in the light engine if necessary. D%m‘ﬁg:
| NEN |
@ Reach into the light engine and remove the 1/4 IPS nut, lock + o+ Tsv:reure
washer, and 1.5" flat washer. Then carefully remove the crossbar Ok

assembly from the top of the fixture. crossbar assembly

See Label on Driv;r for Wire Colors

@ Make electrical connections between the driver input leads and
the line voltage wires. Keep the wire connections in the junction
box.

CRITICAL NOTE: If 0-10V dimming control is to be used, connect
the 0-10V driver leads to a 0-10V dimmer. Otherwise, the tinned
ends of these leads should be snipped off and the leads should
be capped individually such that they remain isolated from one
another.

@ Attach the crossbar assembly to the junction box using the
supplied #8-32 screws. Connect a bare ground wire to the green
screw on the crossbar assembly.

@ Raise the shade up towards the junction box. The threaded
nipple on the crossbar assembly should be centered with the
center hole in the shade. Use the 1.5" flat washer, lock washer,
and 1/4 IPS nut (in that order) to the threaded nipple to secure
the shade tightly to the ceiling, covering the junction box.

lock washer
1/4 IPS nut

1.5" flat washer

cable gripper

@ Align the screw heads on the wood hub with the holes on the
light engine. Secure the hub to the fixture with the brass thumb
nuts.

wood hub

@

CERNOGROUP.COM T_949.715.1534 22892 GLENWOOD DR, ALISO VIEJO, CA 92656 COPYRIGHT 2024 CERNO LLC ISSUE DATE 5/28/2024




